
 

 

INSTALLATION INSTRUCTIONS FOR AUDI 

Q3/Q5/Q7 RUNNING BOARDS 

 
INSTALLATION KIT 

N

o. 

Q

TY 

PHOTO N

o. 

Q

TY 

PHOTO 

1 2 

RUNNING BOARDS 

2 2 

 

FRONT-LEFT BRACKET 



 

 

3 2 

 

MID-LEFT BRACKET 

4 2 

 

REAR-LEFT BRACKET 

5 4 

 

NO.1 BRACKET 

6 4 

 

NO.2 BRACKET 

9 4 

 
NO.3 BRACKET  

10 12 

 
      M10 Spring joint-packing 

13 12 

 

M10 NUT 

14 12 

 

M10 Spring joint-packing 

 

1. Installation Prepare (left and right size use the same way to do) 

A：Check all the installation kits 

B：Take off the skid plate of the car bottom 

C：Find out the fixing position showed on below illustration 

 
HEAD 



 

 

 

 

 

 

 

2. FRONT BRACKET INSTALLATION STEPS 

A. Take off the rubber covers on fixing position on your car bottom. 

B. Put No.2 bracket into positions 1 and 2; No.3 bracket into positions 3 and 6; No.1 bracket into 

positions 4 and 5; put front bracket on fixing position 5 and 6(above the no.3 and no.1 bracket), use 

2XM10 nuts、2XM10 Spring joint-packings、2XM10 Outsize flap joint-packings to fix the front bracket, 

check illustration below. 

 

 

3. MID-BRACKET INSTALLATION 

Put mid bracket on fixing position 3 and 4(above the no.3 and no.1 bracket), use 2XM10 nuts、2XM10 

Spring joint-packings、2XM10 Outsize flap joint-packings to fix the front bracket, check illustration below.

 

 

4. REAR BRACKET INSTALLATION 

Put rear bracket on fixing position 1 and 2(above the no.2 bracket), use 2XM10 nuts、2XM10 Spring 

REAR BRACKETS 

FIXING POSITIONS 
FRONT-BRACKETS 

FIXING POSITIONS 

 

1 2 

3 

M10 nut、M10 Spring 

joint-packing、M10 Outsize flap 

joint-packing 

MID-BRACKETS 

FIXING POSITIONS 

 

4 

5 
6 

M10 nut、M10 Spring 

joint-packing、M10 

Outsize flap joint-packing 

 

M10 nut、M10 

Spring 

joint-packing、

M10 Outsize flap 

joint-packing 

 

M10 nut、M10 Spring 

joint-packing、M10 Outsize flap 

joint-packing 

 

M10 nut、M10 Spring 

joint-packing、M10 

Outsize flap 

joint-packing 



 

 

joint-packings、2XM10 Outsize flap joint-packings to fix the front bracket, check illustration below. 

             

 

5. BOARDS INSTALLATION 

A. Open the car doors. 

B. Take off all the M8 nuts, Spring joint-packings, Outsize flap joint-packings on the boards. 

 

C. Use 2XM8 nuts、2XM8 Spring joint-packings、2XM8 Outsize flap joint-packings to connect the brackets 

to boards, check photo below. 

 

D. Adjust the boards to be perfect fitment. Install back the skid plate which be taken off before 

installation. 

Fixing detail 

M10 nut、M10 Spring 

joint-packing、M10 Outsize 

flap joint-packing 

 

M10 nut、M10 Spring 

joint-packing、M10 Outsize 

flap joint-packing 

 

M8 nut、M8 

Spring 

joint-packing、

M8 Outsize flap 

joint-packing 

 


